

RollStar® EZ Open™ Produce Bag

One of the first stops in the grocery store for consumers is the produce department. It is an opportunity to provide a simple, but important experience during the customer journey through your store. The RollStar® EZ Open™ Produce Bag is formulated with a proprietary recipe making the bag easy-to-open, and more convenient.

When paired with the narrow compact dispenser, the RollStar system integrates seamlessly into your produce merchandizing scheme. Shoppers can easily dispense one-bag-at-a-time, every time. This ensures your customers get just the bags they need. Preventing wasted bags is beneficial for the environment, and, your bottom line.

KEY FEATURES

- New formulation improves shopper experience with easier-to-open bags
- Star Seal bottom bags are leak-proof and stronger than conventional flat seal bags
- Universal narrow roll bag dispenser fits in a variety of spaces and is compatible with most roll bags
- Multiple bag sizes and prints for other departments including bakery, meat and seafood products
- Custom fixtures available
- Custom prints available
- Multiple manufacturing facilities ensures business continuity for single source customers



RollStar EZ Open Produce Bags are even easier to use! For a better shopping experience, these produce bags are easy-to-open and fill.



 Available in standard or custom printing



Fresh seafood blue bag



Red meat bag

■ RollStar® Fixture Kits

EZ Open™ Technology allows single-handed bag opening

FLOOR STANDS

- STD 46" Floorstand Kit (#777-4155)
- 36" ADA Floorstand Kit (#777-4161)



WET CASES

- Standard Wet Case Kit (#777-4133)
- Wet Case D5 Well Kit (#777-4135)



ORCHARD BINS

- 12" Cantilever Kit (#777-4134)
- 12" Partition Kit (#777-4136)

MEAT BUNKERS

 Meat Bunker Kit (#777-4142)

TWIST TIES

TwistEase w/Universal Bracket (#777-4160)



BANANA TABLES

■ 20" Banana Table Kit (#777-4151)

EURO TABLE & SLANTS

■ Euro Case Slant Base Kit (#777-4152)

SMALL ROLL

 Small Roll Dispenser (#777-4196)

■ RollStar® EZ Open® Produce Bag



Item#	Description	Layflat Width (in.)	Length (in.)	Gauge (micron)	Folded Width (in.)	Film Color	Print Design / Ink Color	Bags per Roll	Bags per Case	Net Poly Case Wt. (lbs.)	Weight per Case (lbs.)	Case Cube (in.)	Cases per Pallet
1019159	Medium Produce	14	18	6	3.75	Natural	More Matters	1000	4000	16.35	17.3	0.49	60
1027759	Medium Produce	14	18	8	3.75	Natural	More Matters	750	3000	16.35	17.3	0.49	60
1018878	Standard Produce	12	20	8	3.25	Natural	More Matters	750	3000	15.57	16.5	0.51	75
1019160	Large Produce	15	20	6	4.00	Natural	More Matters	1000	4000	19.47	20.4	0.57	60
1030417	Large Produce	15	20	6	4.00	Natural	More Matters	825	3300	16.06	17.0	0.57	60
1028535	Small Roll RollStar	15	20	6	4.00	Natural	Plain w/Warning	100	3000	14.60	15.5	0.60	60
1018547	Large Produce, Medium	15	20	8	4.00	Natural	More Matters	750	3000	19.47	20.4	0.55	60
1028752	Organic	15	20	8	4.00	Yellow Tint	Organic	750	3000	19.47	20.4	0.55	60
1018880	Large Produce, Heavy	15	20	10	4.00	Natural	More Matters	600	2400	19.47	20.4	0.62	60
1018881	Safe Handling (Meat Bag)	15	20	10	4.00	Natural	Safe Handling	600	2400	19.47	20.4	0.62	60
1018882	Bakery	15	20	10	4.00	Natural	Bakery	600	2400	19.47	20.4	0.62	60
1018883	Leafy Greens	16	26	8	4.25	Natural	More Matters	575	2300	20.70	21.6	0.57	60
1018884	Corn & Yams	16	26	15	4.25	Yellow Tint	More Matters	300	1200	20.25	21.0	0.64	60
1029616	Red Meat Bag	15	20	15	4.25	Red Tint	Safe Handling	250	1500	18.25	19.2	0.64	60
1029618	Fresh Seafood Bag	15	20	15	4.25	Blue Tint	Fresh Seafood	250	1500	18.25	19.2	0.64	60









